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PREFACE. 

In the following set of Tables the Publishers have 
endeavoured to present practical men with the 
means of readily ascertaining the Solid or Cubical 
Contents of Hay and Corn Stacks, and also the 
Weight of Live Stock. Great pains have been 
taken to insure their accuracy, and explain their 
application to practical purposes. With the latter 
view, remarks have been prefixed to each Table, 
which, it is believed, will greatly facilitate their 
consultation, and explain their mode of application 
wit.h sufficient brevity and precision. Tables are 
also added, showing the Equivalents of the Im- 
perial Stone of 14 lbs. in various Local Weights. 
These Tables are extracted from the Agriculturist's 
Calculator, and now published in a separate form, to 
meet the wants of a numerous class who do not 
require the other portions of that work. 

Glasgow, February, 1860. 
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THE HAY & CATTLE MEASURER. 

Shows the solii CYLINDRICAL F R CUBICAL CONTENT OF STACKS OF A ROUND OR U, IN SOLID YARDS AND FEET. FROM 6 TO 21 FT ROM 15 TO 82 FT. IN GIRTH OR CIRCUMFERENCE. 
In the first three pages of the table are found the girths from 15 to 37 ft.: in the next three pages the girths from 374 to 

594 ft.; and, in the last three pages, the girths from 60 to 82 ft.; these are placed in the left-hand columns of the pages; the heights from 6 to 21 ft. are placed along the top of the other columns; the solid content is found opposite the given girth, in the column under the given height. The girths being given, rising by a half foot, from 15 to 82 ft., are, in ordinary cases, sufficiently minute for any measurement; and, if required, any height may be had, rising by a half-foot from 3 ft. to 324 ft., either by taking half the content of one of the heights in the Table, or by adding together the contents of two of the heights. If any required girth exceeds the bounds of the Table, the content of it may be found by taking half of the given girth ii the Table, and multiplying its content by the square of 2=4, and the product is the content of the girth required. Thus, to know the content of a stack of 150 ft. girth and 21 ft. high: in the Table opposite half its girth, 75 ft., under height 21 ft., stands its content, 348 yds. 4 ft., which multiplied by 4 gives 1392 yds. 16 ft., the content of the stack. The contents are set down to the nearest fraction of a foot: fractions of a half-foot and under are neglected, and when above a half-foot, they are reckoned 1. To find the solid content of a circular stack, such as the figure adjoining:—When the stack tapers regularly from the eaves to the ground, find the mean girth by adding together the girth taken at the bottom of the stack and the girth taken at the eaves, a, b, both ' 1 feet, and half the sum is the lean girth. When the stack does ot taper regularly, girths must be taken in several places and added together, their sum divided by the number of girths taken, the quotient is the mean girth. 



6 TABLE I.—CUBIC CONTENT OP BOUND STACKS. 
Then, with the mean girth found in one of these ways, and the height of the stack from the ground to the eaves, find the content of this portion of the stack in the Table. Next find the content of the top portion, by taking the girth at the eaves- by the perpendicular height from the eaves to the crown of the stack, c, the third part of which is to be added to the content of the body portion already found, and their sum shows the content of the stack in solid yards and feet, as in the following example:— Required the solid content of a circular stack, the girth at the bottom being 56 feet, the girth at the eaves 63 feet, the per- pendicular height from the ground to the eaves 12 feet, and the perpendicular height from the eaves to the crown of the stack 9 feet. 
Add together the two girths, 56 and 63 = 119, half Yds. Ft. of which is 59J feet, the mean girth; opposite this girth in the Table, under 12 feet height to the eaves, stands 125 6 And opposite 63 feet, girth at the eaves, and under 9 feet, height from the eaves to the crown of the stack, is 105 yards 8 feet, the third of which is  35 2| 

Showing the solid content to be, . . 160 8| 
To calculate the above by the pen, square the mean girth, multiply the product by the height from the ground to the eaves, and this product by the decimal .0029474, which gives the content of the body portion. Then square the girth at the eaves, multiply the product by the height from the eaves to the crown of the stack, and divide the product by 3: the quotient, multiplied by the decimal .0029474, gives the content of the top portion. Add the top and bottom portions together, point off as many places of figures from the right of the sum as there are decimal places in the multiplier; the figures to the left of the point show the solid content of the stack in yards, those to the right are decimals of a yard, which, multiplied by 27, and the same number of figures pointed off, those on the left are solid feet, and those to the right decimals of a foot, thus:— 
59.5J = 3540.25 X 12 = 42483 X .0029474 = 125.2143942 

63* = 3969 X 9 = M721 X-0029474= 35.0946918 
160.3090860 

And .3090860 X 27= 8.3453220 
Showing the solid content of the stack to be 160 yards, 8 feet, and a fraction as before. 



TABLE I. CUBIC CONTENT OF ROUND STACKS. 9 
Note.—The multiplier .0029474 is found by dividing .07958, the area of a circle whose circumference is 1, by 27, the cubic feet in a yard. When great accuracy is not required, the content is sometimes found by taking the height of the stack from the ground to the eaves, and adding to this the third of the height from the eaves to the crown—the sum of these by the mean girth gives the content. The content thus found is less than the truth, but the loss may not be great, seeing that the stack is not so dense at the top as it is at the bottom. The weight of hay per cubic yard, in stacks, varies very con- siderably, from quality, size of the stack, age, &c. In England, stacks of new hay may weigh 8 or 10 stones, of 14 lbs. per cubic yard, and when they are 10 or 12 months old, the cubic yard may weigh 14, 16, 18, and sometimes as much as 20 stones. In ■Scotland, hay is frequently calculated by the Trone stone, vary- ing, in different counties, from 22 to 28 lbs. Imperial. New hay, in small stacks, is supposed to weigh about 5 stones, of 22 lbs., per cubic yard; large stacks, about 6 or 7 stones. Large stacks, that have stood 10 or 12 months, may weigh 9,10, or 11 stones per cubic yard, according to size and quality. According td Baildon, the quantity of-corn in a stack may be estimated at the average quantity of a bushel to a solid yard: but if the crop has been mown, a yard will not average more than 3 pecks. Stacks of straw may be estimated at the rate of 18 or 20 yards to a ton. In order to find the weight of stacks, of all the varieties ■alluded to above, it was considered most advisable to give, first, Tables showing the cubic content of stacks in solid yards and feet, as has been done in this Table, and in Table II., for measuring stacks of an oblong form, and then to give a separate Table, showing the number of stones in any number of cubic yards, ranging from 4 to 20 stones per cubic yard, as is done in Table III. If we suppose the foregoing example to be an old hay stack, and may weigh 16 stones Imperial per cubic yard, on turning to Table III. we find that 160 yards will be 2560 stones, at that rate. If the hay is supposed to weigh 9 stones Scotch Trone weight, 160 yards will weigh 1440 Trone stones. 
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TABLE II. 
This tablk shows the solid or cobical content op stacks op A SQUARE OR AN OBLONG FORM, IN SOLID TAROS AND FEET, FROM £ FOOT TO 60 FEET IN LENGTH, £ FOOT TO 21 FEET IN BREADTH, AND THE SAME IN HEIGHT. 

The breadths are found on the tops of the pages, the lengths in the left-hand columns, and the heights along the tops of the other columns ; the content, at a given breadth and height, is found opposite any given length, in the column under the given height. The content of any dimension, not found in the Table, may be had by adding together the contents of two dimensions, either in length, breadth, or height; or, it may sometimes be more convenient to take the half of the content of double the required dimension. The Table may also be extended to any required length, by adding together the contents of two or more dimen- 
Note. As stated in the introduction to Table I. (which see), the weight of hay stacks, &c., per cubic yard, varies so much, from size, age, and quality, that it was considered most advisable to give, first, Tables showing the cubical content of stacks in solid yards and feet, as is done in this Table, and in Table I., and then to give a separate Table, showing the num- ber of stones in any number of cubic yards, ranging from 4 to 20 stones per cubic yard, as is done in Table III. To find the solid content of a stack of the form adjoining, the ends being perpendicular, but the breadth wider at the eaves than at the bottom:— Add the breadth at the bottom to the breadth at the eaves, a, b, and divide the sum by 2 for the mean breadth; then with the length of the stack, the m'ean breadth, and the height from the ground to the eaves, find the content of this portion in the Table. Next find the content of the top portion of the stack by taking the length and breadth at the eaves, and the perpen- dicular height from the eaves to the ridge of the stack c, divide the content found in the Table by 2, and add the quotient to the content of the body portion; their sum is the solid content of the stack. Example. Required the solid content of a hay stack, the 



20 TABLE II. CUBIC CONTENT OP OBLONG STACKS. 
length of which is 50 feet, the breadth at the eaves 17 feet, at the bottom 13 feet, the perpendicular height from the ground to the eaves 13 feet, and from the eaves to the ridge of the stack 7 feet. Yds. Ft. Length 50 feet, X mean breadth 15 feet, X height to eaves, 13 feet (=6 + 7) = 166.18 + 194.12= 361 3 Length at eaves 50 feet, X breadth 17 feet (=84-9), and height 7 feet = 103.194-116.18=220.10. divided by 2= 110 5 

Solid content of the stack, . . 471 8 
To find the content of the above by the pen:—Multiply the mean length of the body of the stack by the mean breadth, and the product by the height from the ground to the eaves. Then multiply the length and breadth of the stack at the eaves by the perpendicular height from the eaves to the ridge, and divide the product by 2. Add the products of the two portions together, divide their sum by 27, and the quotient is the content in solid yards, and the remainder, if any, is solid feet, thus:— 
50X 15=750 X 13= . . 9750 50X 17 = 850 X 7 = 5950-1-2= 2975 And 9750-}-2975=12725 -j-27=471.8. The solid content as in the example. The content is sometimes found by adding the half of the per- pendicular height from the eaves to the ridge of the stack, to the height from the ground to the eaves, by the product of the mean length and breadth, and finding the content in the Table at once. This gives the content something less than the truth, as was mentioned in Table I. 
To find the number of Imperial stones in the stack, at the rate of 14 stones per cubic yard, turn to Table III., Stones. Where, under 14 stones, opposite 450 yards, stands 6300 And, opposite 10 yards, stands . . . . 126 

The number of stones in the stack, . . 6426 
If the number of Scotch stones in the stack is required, weighing 8 stones per yard, Stones. Under 8 stones, opposite 450 yards stands . . 3600 And opposite 10 yards stands .... 80 

The number of stones in the stack, 3680 
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TABLE III. 
Shows the numbeb of stones of hat, etc., in stacks containing FROM 1 TO 600 CUBIC YARDS, AT RATES FROM 4 TO 20 STONES TER CUBIC YARD. 

The content of stacks in cubic yards is placed in the left-hand column of the Table; and, in the first two pages, under their respective headings, opposite each content, is found the number of stones at any required rate, from 4 to 12 stones per cubic yard; the second two pages contain the number of stones in each con- tent, from 13 to 20 stones per cubic yard. Having ascertained by Tables I. or II. the content of a stack in cubic yards, and estimated, from its size, age, &o., the number of stories, whether Imperial or Scotch Trone, that a cubic yard may be supposed to weigh, the number of stones in the stack is at once found in the column under the estimated weight, opposite the given content. Thus, if the content of a stack is found to be 76 cubic yards, and is supposed to weigh at the rate of 16 stones per cubic yard; on turning to the Table, we find that in the column under 16 stones, opposite 76 yards, stands 1216 stones, the weight of the stack. 
Note. The extent and usefulness of the Table may be in- creased by remembering that a cypher added to the right of any number raises its value tenfold. If, then, we add a cypher to both the yards and the stones, in the above example, a stack containing 760 cubic yards would be shown to weigh 12,160 stones. To reduce Imperial stones to hundredweights, divide the number by 8; thus, 1216 -f- 8 = 152 cwt.; and 12,160 -4- 8 = 1520 cwt.; which may be divided by 20, to reduce them to tons, if required. 





39 
18 . Stones. 
564 576 583 600 612 624 636 648 660 672 684 696 708 720 732 744 756 768 780 792 804 816 828 840 852 864 876 888 900 912 924 936 948 960 1020 1080 1140 1200 1800 2400 ' 3000 i 3600 i 4200 i 4800 ' 5400 i 6000 







TABLE IY. 
Shows the conteht of tanks, etc., of a cylindrical form, in CUBIC YARDS AND FEET, FROM i TO 15J FEET IN DIAMETER, AND FROM 1 TO 14 FEET IN DEPTH. 

The depths are found in the left-hand column of the pages, and the diameters along the tops of the other columns, in their order; and the content, at any given diameter and depth, is found opposite the given depth under the given diameter. In calculating the Table, fractions of a half-foot and under are neglected, when above a half-foot, they are reckoned 1. 
Example. What is the cubic content of a cylindrical tank, the diameter of which is 12£ feet, and the depth 8 feet? Look in the Table for the diameter 12 j feet, and under which, opposite the depth 8 feet, is found 36 yards 10 feet, the cubic content. To calculate the content of a cylindrical tank, having the diameter and depth given, 
Rule 1. Square the diameter, multiply the product by the depth, and by .7854, and, if the dimensions are given in feet, the result is the content in cubic feet; if the dimensions are given in inches, in place of .7854, multiply by .00045452, which will also give the content in cubic feet, which divide by 27, to reduce to cubic yards if required. 
2. Or, square the diameter, multiply the product by the depth, and by .02909, the product is the content in cubic yards, if the dimensions are given in feet; if the dimensions are given in inches, in place of .02909, multiply by .000016834, and the pro- duct is also the content in cubic yards. Take, for exercise, the above example, by the rules in their order. By Rule 1, the dimensions in feet, 
12.52 = 156.25 X 8 = 1250 X .7854 = 981.75 cubic feet. 
Dimensions in inches, diameter 150 inches, depth 96 inches, 

1502=22500 X 96= 2160000X .000045452=981.7632 cubic feet, and 981.7632, divided by 27, gives 36 yards 9.7632 feet, or nearly 9f feet. 



TABLE IV.—CUBIC CONTENT OF CYLINDRICAL TANKS. 43 
By Rule 2, the dimensions in feet, 
12.52 =» 156.25 X 8 .= 1250 X .02909 = 36.3625 yards. 

Dimensions in inches, 
1502 — 22500 X 96 = 2160000 X .000016834 = 36.36144 yards, and the fraction, .36144, multiplied by 27, gives 9.7588, or nearly 9f feet as above. 

These results differ a little from the content shown in the Table, as fractions above a half-foot are set down as 1. 
Note. If the diameter of a circular tank be multiplied by 3.1416, the product is equal to its circumference; and. if the circumference be multiplied by .31831, the product is equal to its diameter. 



44 TABLE IV.—CUBIC CONTENT OF CYLINDRICAL TANKS. 





TABLE Y. 
Shows the number op Imperial gallons that tanks op a CIRCULAR, SQUARE, OR OBLONG FORM WILL CONTAIN; HATING THEIK CONTENT OR CAPACITY GIVEN IN CUBIC YARDS AND FEET, PROM 1 FOOT TO 500 YARDS. 

The content or capacity of circular tanks, having the circum- ference and depth given, is readily found in cubic yards and feet by Table I.; and the content of square or oblong tanks, the length, breadth, and depth being given, by Table II.; the height in these Tables being reckoned the depth of the tank. Table IV. shows the content of circular tanks, having the diameter and depth given, in cubic yards and feet. The cubic content having been found by these Tables, or otherwise, the capacity in Imperial gallons will be shown by the present Table. In calculating the Table, fractions of half a gallon, and under, are neglected; when above half a gallon, they are reckoned 1. 
Example. How many gallons will a circular tank contain, the diameter of which is 12J feet, and the depth 8 feet? 
In Table IV., under the diameter 12£ feet, and opposite the depth 8 feet, stands the cubic con- tent 36 yards 10 feet; and, by the present Table, Gallons, the content in gallons, opposite 36 yards, is . 6058 And opposite 10 leet, is 62 

Capacity of the tank, . . 6120 
Suppose it were wished to construct a tank to contain a certain number of gallons, say about 6000, at a depth of 8 feet, what would the circumference require to be? 
By this Table we find that 36 cubic yards will con- tain 6058 gallons, and, on turning to Table I., the nearest content to 36 yards, under 8 feet, is found to be 35 yards 23 feet, opposite a circum- ference of 39 feet; and, in this Table, opposite Gallons. 35 yards, stands  6889 And opposite 23 feet stands . . . . . 143 

Capacity of the tank, . . 6032 



TABLE V.—CAPACITY OF TANKS IN IMPERIAL GALLONS.' 47 
If it be desired to make an oblong tank to contain about the same quantity, the depth to be 8 feet, and the breadth 9 feet, what must be its length? 
In Table II., at a breadth of 9 feet, under a depth (height) of 8 feet, we find opposite a length of 13 Yds. Ft. feet, stands . . . , . . . 34 18 And opposite J foot stands .... 1 9 
Or, a tank 13J feet long, 9 broad, and 8 deep, will measure ....... 36 0 and will contain 6058 gallons. 
An Imperial gallon contains 277.274 cubic inches, and if 46,656, the cubic inches in a yard, is divided by that number, the quotient is 168.26677, or a little more than 1681 gallons per cubic yard; and this number, divided by 27, the cubic feet in a yard, gives a quotient of 6.2321, or a little less than 61 gallons per cubic foot. Thus, if the cubic content of any tank is known, yards multi- plied by 168.26677, and feet multiplied by 6.2321, will give its capacity in Imperial gallons. Where great exactness is not re- quired, the yards may be multiplied by 1681, and the feet by 61 in place of the above. Suppose the solid content of a tank to be 36 yards 10 feet; 

Gallons. Then, 36 X 168.26677 . . . = 6057.60372 And, 10 X 6-2321 . . . = 62.321 
Capacity of the tank  6119.92472 or very nearly 6120 gallons, as shown by the Table. 

Rules for calculating the capacity of tanks in Imperial gallons. 
1. For circular tanks.—Given, the diameter and depth. Square the diameter, multiply the product by the depth, and by 4.8947, if the dimensions are given in feet; or, by .0028326, if the dimensions are given in inches. 
2. For circular tanks.—Given, the circumference and depth. Square the circumference, multiply the product by the depth, and by .49594, if the dimensions are given in feet; or, by .000287, if the dimensions are given in inches. 
3. For square or oblong tanks.—Given, the length, width, and depth. Multiply the length, width, and depth into one another, and the product by 6.2321, if the dimensions are given in feet; or, by .00360654, if the dimensions are given in inches. We shall perform the foregoing examples, by the Rules, in their order. 



48 TABLE y.—CAPACITY OF TANKS IN IMPERIAL GALLONS. 
1. A circular tank, diameter 12J feet, and depth 8 feet. 

By feet, 12.5‘==158.25X8 = 1250X4-8947 = G118.375 gallons. 
„ inches,150-=22500X96=2160000X.0028326=6118.416do. 

2. A circular tank, circumference 39 feet, and depth 8 feet. 
By feet, 392= 1521 X 8= 12168 X .49594= 6034.59792 gallons. 
„ in. 4682=219024 X 90=2102C304X .000287=6034.549248 do. 

3. An oblong tank, length 13£ feet, width 9 feet, and depth 8 feet. 
By feet, 13.5X9=121.6X8=972X6.2321=6057.6012 gallons. 
„ inches, 162 X 108 = 17496 X 96 = 1679616 X .00360654 = 6057.60228864 gallons. 

It will be observed that the contents in these examples vary a little from the contents found by the Tables, which is caused by taking the fractions in the calculations of the Table, if above a half-foot, as 1; or, neglecting them, when a half-foot, or under. Mr. George Melling, at the Annual Show Meeting of the Royal North Lancashire Agricultural Society, held at Burnley in September 1850, stated that he had made a calculation which, he believed, would be found near enough for practical purposes, that during the frosty months of November, December, January, and February, when he considered it useless to apply liquid manure, one cow, during that time, would make 300 gallons. The size of tanks necessary for a farm would, therefore, be regu- lated by the number of stock kept, at the rate of 300 gallons for each. This would be about 2 cubic yards for one cow, 9 yards for 5 cows, 18 yards for 10 cows, 27 yards for 15 cows, and 36 yards for 20 cows, <fec. Tanks of the proper dimensions, either circular, square, or oblong, of the above-mentioned contents, may readily be found by Tables I., II., and IV. 





TABLE YI. 
To SIND, BT MEASUREMENT, THE WEIGHT OS LITE CATTLE, SHEEP, AND SWINE, IN IMPERIAL STONES OF 14 LBS., IN SmITHFIBLD STONES OS 8 LBS., IN CWTS., AND IN SCORES. 

In the first column of the Table, on the left hand, is placed the girths of the animals, in feet and inches; in the second co- lumn, the lengths, in feet and inches; in the columns succeeding, opposite each dimension, is found the weight in Imperial stones and lbs., in Smithfield stones and lbs., in cwts., qrs., and lbs., and in scores and lbs. To get the dimensions, let the animal be made to stand straight, and take the girth close behind the fore legs, at A B (see Frontispiece), in feet and inches, and the length from the top of the shoulder to the bone at the rump, perpendicular to the extremity of the buttock, or from A to C, also in feet and inches. The length of the hog is taken along the curve of the back, as indicated in the figure. Having found the girth and length as directed, look for the girth in the left-hand column, and opposite the length, under their respective headings, stands the weight of the animal in all the various denominations. 
Example I. Required the weight of a pig which is 4 feet 4 inches in girth, and 3 feet 3 inches in length. 
Having found the girth 4 feet 4 inches in the Table, opposite the length 3 feet 3 inches stands 14 stones 8 lbs. Imperial, 25 stones 4 lbs. Smithfield, 1 cwt. 3 qrs. 8 lbs., and 10 scores 4 lbs.; being the weight of the animal in all the denominations, any of which the dealer may take that best suits his business, or the custom of the place in which he resides. 
Example II. What is the weight of an ox, the girth of which is 5 feet 10 inches, and length 5 feet 1 inch? 
Having found the girth 5 feet 10 inches, and length 5 feet 1 inch, opposite thereto stands 41 stones 4 lbs. Imperial, 72 stones 2 lbs. Smithfield, 5 cwt. 18 lbs., and 28 scores 18 lbs.; any of which may be selected as is found most convenient. It is to be observed that the Table shows the weight of the four quarters only of the animal, or, as it is termed, the weight sinking offals, which is little more than half the weight of the 



TABLE VI.—WEIGHT OF LIVE CATTLE BY MEASUREMENT. 51 
beast, the offals weighing nearly the other half. The skin weighs about the 18th part, and the tallow about the 12th part of the living animal. The head and neck of a pig weighs about one- sixth the weight of the four quarters. The offals of cattle con- sist of the head, feet, hide, tallow, tripe, blood, <kc„ and are estimated at from about one-fourth to one-third the price of the four quarters. The offals of swine may be estimated at about one-eighth of the value of the four quarters. It is also to be noted that the Table is calculated to show the weight of cattle when in pretty good condition. If the animal, of which the weight is required, is extra fat, to the weight found in the Table add its 20th part; and, if lean, and in bad condition, deduct the 20th part. For a cow which has had several calves, and is not in good condition, deduct the 10th part from the weight shown in the Tables, which will then be very nearly the true weight, sinking the offals. If it be desired to find the weight of an animal in Dutch stones, of 17J Imperial ounces in its pound, and 16 of these pounds in its stone; or in Scotch Trone stones, varying in different places from 20 to 28 Imperial ounces to the pound, and 16 of these pounds to the stone; there being always the same number of Imperial pounds in a Dutch or Trone stone as there are Imperial ounces in their pound, the Dutch stone will weigh 17^ Imperial pounds, and the Trone stone from 20 to 28 pounds Imperial, in conformity with the usage of different localities. The Rule, then, to turn the Imperial weight found in the Table into any of these weights is to multiply it by 14, the number of pounds in a stone; and if for Dutch, divide the product by 17|; if for Trone, divide by the number of pounds in the stone of the given weight, and the quotient is stones of the weight required. If, after the division of the stones, there is a remainder, multiply it by 16, and divide by the former divisor; the quotient is pounds Dutch, or Trone, as the case may be. It is to be observed, that a weight consisting of stones and pounds Imperial cannot be accurately converted into Dutch or Trone weight, unless the number by which the pounds in the weight is multiplied, bring up the pounds to exact stones. The reason of which is, that the ratio of the Imperial stone is to the Dutch stone as 14 to 17£, and to the Ayrshire stone, in the fol- lowing example, as 14 to 24, whilst the ratio of the Imperial pound is to the Dutch pound as 16 to 17J, and to the Ayrshire pound as 16 to 24. This remark is also applicable when Dutch or Trone weights are to be converted into Imperial. 

Example. The girth of an ox is 5 feet 9 inches, and its length 4 feet 10 inches; what is its weight in Dutch stones, and also in Ayrshire stones, of 24 Imperial ounces to the pound? In the Table the weight is found to be 38 stones 2 lbs. Impe- rial. To find the Dutch weight; on account of the fraction in 
■:i\ i. 
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the Dutch, we must multiply 14 and the pounds in the n spective stones, by 2, and multiply the weight by 28 and divide by 35. Sts. Lbs. 

30 or, 30 stones 8^ lbs. Dutch. 
To find the Ayrshire stones, we may divide 14 and 24 by 2, and then multiply by 7 and divide by 12, 

Sts. Lbs. 38 2  7_ 12 ) 267 0 
22 4 Or, 22 stones 4 lbs. Ayrshire Trone. 

The following short account of the method of calculating the weight of animals by the pen,' and constructing the Table, may be found useful. It has been ascertained, by a number of experiments, that if the girth and length of cattle are taken as formerly directed, and the solid content found by the rule for calculating the solid con- tent of cylinders, each cubic or solid foot will indicate a weight of 3 Imperial stones, and the third part of a cubic foot, or 576 cubic inches, will consequently be equal to 1 stone. If, there- fore, the whole content in cubic inches is divided by 576, the quotient will be the number of Imperial stones in the four quarters of the animal. 
Rule 1. Multiply the square of the girth of the animal by the length, both in inches, and the product, multiplied by the decimal .07958, will give the content in cubic inches; which divide by 576, and the quotient is the weight of the animal in Imperial stones of 14 lbs. 
2. Multiply the square of the girth by the length, both in inches; and divide the product by 7238, and the quotient is the weight in Imperial stones. 
3. Multiply the square of the girth by the length, both in inches, and that product multiply by the decimal .00013816, tin- product is the weight in Imperial stones. 
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Note. The divisor 7238, in Rule second, is the quotient of 576 divided by .07958, and the multiplier .00013816, in Rule third, is the quotient of .07958 divided by 576. 
Example. The girth of an ox is 88 inches, and length 63 inches. Required its weight in Imperial stones? 
By Rule 1st, 

882 = 7714 X 63 = 487872 X .07958 = 38824.85376 -j- 576 = 67.40426 stones, 
and .40426 X 14 = 5.65964 lbs., and .65964 X 16 = 10.55424 ounces, making the weight 67 stones 5 lbs. 10^ ounces. 

By Rule 2d, 
882 = 7744 X 63 = 487872 -r 7238 = 67.404255 stones; the fractional part of which may be reduced to pounds and ounces as above. 

By Rule 3d, 
882 = 7744 X 63 = 487872 X .00013816 = 67.40439552 stones. 

By the Table the content is found to be 67 stones 6 lbs. The slight difference from the Table, by the first Rule, is caused by taking the remaining fraction .65964, which is above a half pound as 1. By Rule 2d, the divisor is a very small fraction too large, and by Rule 3d, the multiplier is also a very small fraction too large. The number 7238, multiplied by 8, and divided by 14 = 4186. is the divisor for Smithfield stones. 
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Ft. In. Sta. Lbs. 

20 0 20 4 21 1 21 6 22 3 23 0 23 5 24 1 24 6 25 3 26 0 

1 1 9 1 1 13 1 1 18 

1 1 15 1 1 20 1 1 24 
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1 7 1 13 1 19 

9 12 9 17 10 3 

12 8 12 14 12 19 

14 7 14 13 14 18 
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2 16 2 1 13 2 1 20 2 1 27 

Scs. Lbs. H 13 H 19 

13 16 U 3 U 10 U 16 15 3 15 10 15 16 16 3 16 10 16 17 17 3 17 10 17 17 18 4 
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27 T' 27 10 

24 11 25 6 26 1 

Cwts.Qrs. Lbs. ~ 1 15 1 24 
Scs. Lbs. 18 19 19 8 19 16 

19 11 19 19 20 8 20 17 21 5 21 14 22 3 22 12 23 0 23 9 23 18 24 6 24 15 
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Cwts. Qrs. Lbs. 

24 17 26 7 25 17 
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Girth. Length. 

27 16 23 6 28 15 
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24 18 25 8 25 i9 26 10 27 0 27 11 28 1 28 12 

33 18 34 8 34 19 35 10 





TABLE VI.—WEIGHT O E CATTLE BV MEASUREMENT. 

55 1 65 12 50 9 57 6 



TABLE VI.—WEIGHT O E CATTLE EY MEASUREMENT. 
Girth. Length. ^ “d Cwt, 

Sea. Lbs. 32 19 S3 11 

41 16 42 7 42 19 43 11 
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Girth, 

"k In. 

53 13 54 12 55 10 

1 48 13 49 12 50 11 

58 13 59 12 60 10 
103 1 104 6 106 2 107 7 

42 14 43 7 43 19 44 11 











.. T ,, Imperial Smithfleld Gmtli. Length. stone,. Stones. 
Sts. Lbs. 71 10 72 11 73 12 74 13 lb 13 

77 10 78 11 79 12 

45 19 46 15 47 10 

52 17 53 12 54 8 
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81 10 82 11 83 13 

Sts. Lbs. 117 4 119 4 121 3 123 3 125 3 127 2 129 2 131 2 133 1 135 1 137 1 139 0 141 0 143 0 144 7 146 7 148 7 150 6 152 6 154 6 156 5 158 5 160 5 

120 1 122 1 124 1 

148 1 160 1 152 1 164 1 

50 3 50 18 51 14 52 10 

57 19 58 15 59 11 
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66 15 57 12 58 10 

69 17 70 14 71 11 
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Cwts. Qrs. Lbs. 11 2 13 113 3 

13 1 13 13 2 3 13 2 21 

65 19 66 17 67 15 

7i 17 75 15 76 13 77 11 

60 1 60 19 61 18 62 16 63 14 64 12 65 10 
67 
70 1 71 0 71 18 72 16 73 14 74 12 75 11 76 9 77 7 
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397 3 199 6 2t 2 0 204 3 

12 0 12 12 1 3 12 1 21 

55 15 56 13 57 12 58 10 

64 2 65 0 65 19 66 18 67 16 68 15 69 13 70 12 71 10 72 9 73 8 

78 19 79 18 80 16 81 15 82 13 83 13 
67 16 58 15 59 14 60 13 61 12 62 11 63 10 
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226 3 228 7 231 3 

76 9 77 10 78 10 79 10 80 10 81 10 82 10 83 10 84 10 85 11 86 11 87 11 

92 11 93 12 94 12 
64 13 65 13 66 14 67 14 68 15 69 15 70 16 71 16 72 17 73 17 74 18 75 18 76 19 











TABLE VI.—WEIGHT O E CATTLE BY MEASUREMENT. 

Scs. Lbs. 102 13 103 16 104 18 

110 11 111 14 112 16 

93 1 94 4 95 7 96 10 97 13 98 16 99 19 101 2 102 5 103 8 104 11 105 14 106 17 











TABLE YU. 
Shows the live and dead weight op cattle in Impep.ial stones OP 14 LBS., IN SmITHPIELD STONES OP 8 LBS., IN CWTS., AND IN SCOBES, SINKING THE OFFALS. 

In the left-hand column of the Table is placed the weight of the live animal in Imperial stones ; and when killed, the weight of the four quarters is found opposite each live weight in Ilnperial stones, Smithfield stones, cwts., and scores. 
Example. The weight of a live ox has been ascertained to be 133 Imperial stones; how much will the four quarters weigh? Having found the weight, 133 stones, in the left-hand column, opposite thereto stands 74 stones 11J lbs. Imperial, 130 stones 7J lbs. Smithfield, 9 ewt. 1 qr. 11J lbs., and 52 scores lbs„ the weight of the four quarters in each of these denominations. If it were desired to know the weight in Glasgow Trone stones of 22J Imperial ounces to the pound, or 22J Imperial pounds to the stone, multiply the weight, found as above, by 14, and divide the product by 22J, or, on account of the fraction, multiply by 28, and divide by 45. Sts. Lbs. 74 11J 7 X 4 = 28 523 8| 

15 ) 232 Ilf 
Or, 46 stones 8|| lbs. Glasgow Trone weight. 

Or, if we turn to Table X., we there find that Sts. Lbs. twice 37, or 74 stones Imperial . . . = 46 And, as the Trone stone is 22 J lbs., 11J lbs. is half a Trone stone, = 08 
46 8J 

Table VIII., showing the live and dead weight of swine, and Table IX., showing the live and dead weight of sheep, are so similar to this Table that they will require no explanation. 



















Shows thb live and dead weight op sheep, in Imperial stones OP 14 LBS., IN SmITHFIELD STONES OP 8 LBS., IN CWTS., AND SCORES, SINKING THE OFFALS. 
Weight of the Four Quarters. 

4 4* 

I!4 

Hi 12 
»* 
:? HJ 15 I5i 16 16J 17 17i 18 18i 10 
i9J 

1 3J 1 7 1 10J 2 0 2 34 2 7 2 10J 

3 10J 4 0 4 3* 

5 34 5 7 5 10J 

6 10$ 

7 104 8 0 8 3J 

9 34 9 7 9 10£ 

0 7 1 2i 1 6 2 1} 2 5 3 0J 3 4 3 7$ 4 3 4 (4 5 2 5 Si 6 1 6 4* 7 0 7 3J 7 7 8 2J 8 6 9 1* 9 5 10 0J 10 4 10 7i 11 3 11 6^ 12 2 12 54 13 1 13 44 14 0 14 34 14 7 15 2£ 15 6 16 1} 16 6 17 0* 17 4 

Cwts. Qrs. Lbs. 0 0 7 0 0 10J 0 0 14 0 0 17j 0 0 21 0 0 244 0 1 0 0 1 3J 

1 241 2 0 2 31 2 7 2 101 2 14 2 171 ■ 2 21 2 241 3 0 3 31 3 7 3 101 3 14 3 171 3 21 3 241 0 0 0 Si 0 '7 0 101 0 14 0 171 0 21 0 241 

0 101 0 14 0 171 1 1 i 4i 1 8 1 HI 1 15 1 181 2 2 2 51 2 9 2 121 2 16 2 191 3 3 3 61 3 10 3 131 3 17 4 01 4 4 4 71 4 11 4 141 4 18 5 11 5 5 5 81 5 12 5 151 6 19 6 21 6 6 6 91 6 13 6 161 



TABLE X. 
Shows the relative ok equivalent weight op Imperial stones OF H LBS., PROM 1 TO 100 STONES, IN SCOTCH TrOYES OR DUTCH stones op 17J Imperial lbs., in Edinburgh Trone stones op 22 Imperial lbs., in Glasgow Trone stones of 22J Imperial lbs., in Ayrshire Trone stones op 24 Imperial lbs., in Smith- pie'ld or London stones op 8 Imperial lbs., in scores or 20 Imperial lbs., and in cwts. or 112 Imperial lbs. 

In the left-hand column of the Table are placed the Imperial stones, opposite which, in the other columns, under their respec- tive headings, is found the relative or equivalent weight of the Imperial stones, in stones and pounds of the weights above named. The Dutch and Trone stones are calculated at 16 of their own ounces to the pound, and 16 of these pounds to the stone, and the relative weight is set down to the nearest quarter of a pound, either over or under the exact result. 
Note. See Remarks on these stones in the Table of Weights and Measures; and the relative weight of the Imperial pound, and several of these pounds, in Table XIV. 
Example. Required the weight in Glasgow Trone stones of an animal which weighs 78 Imperial stones? In the Table, opposite 39, half of 78 Imperial Sts. Lbs. stones, under “ Glasgow stones,” stands . . 24 4J Which multiply by  2 

Glasgow Trone weight, . . 48 8J 
If an equivalent for Imperial stones is wanted in Trone stones differing in weight from those in the Table, multiply the given number of Imperial stones by 14, and divide the product by the number of Imperial pounds in the required Trone stone, the quotient is the equivalent in stones of that weight; if there is a remainder, multiply it by 16, and divide by the former divisor, the quotient is pounds; if there is still a remainder, multiply by 16, and divide by the same divisor for ounces. To find an equivalent for Imperial pounds, in Trone pounds, multiply the Imperial pounds by 16, and divide the product by the number of Imperial ounces in the given Trone pound, the quotient is pounds of that weight; if there is a remainder, mul- tiply it by 16, and divide by the former divisor for ounces. To find an equivalent for Trone stones in Imperial stones, multiply the given Trone stones by the number of Imperial pounds in its stone (which is always the same as the number of 
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Imperial ounces in its pound), and divide the product by 14, the quotient is the equivalent in Imperial stones; the remainder, if any, is Imperial pounds. To find an equivalent for Trone pounds, in Imperial pounds, multiply the given Trone pounds by the number of the Imperial ounces in its pound, and divide the product by 16, the quotient is the equivalent in Imperial pounds; if there'is a remainder, it is Imperial ounces. Examples. 1. Required the equivalent of 15 Imperial stones, in Berwick- shire Trone stones of 23 Im- perial pounds? 

Imp. Stones. 15 14 
60 15 

23 ) 210 ( 9 2, or 9 stones 2^ 207 lbs. Berwickshire 3 Trone. 16 

2. Required the equivalent of Edinburgh Trone stones, in Imperial stones? 
Edin. Stones. 

14 ) 209 ( 14 13, or 14 stones 14 13 lbs. Imperial. 
"69 56 13 

46 
j} 23 3. Required the equivalent of 13 Imperial pounds, in Glasgow Trone pounds? On account of the fraction, multiply the ounces in the two pounds by 2 = 32 and 45. 

Imp. Lbs. 13 32 
26 89 45 )416( 9 3H, 405 

IT 16 

or nearly 9J Glasgow lbs. 

17'. 135 
41 45 

4. Required the equivalent of 15 Ayrshire pounds, in Imperial pounds? 
Ayr. Lbs. 15 24 

16 ) 360 ( 22J Imperial pounds. 32 
40 32 





TABLE XI. 
Shows the relatite or equivalent prices from Is. to 12s. per Imperial stone of 14 lbs., in Scotch Troyes or Dutch stones of 17J Imperial lbs., in Edinburgh Trone stones of 22 Im- perial lbs., in Glasgow Trone stones of 22i Imperial lbs., in Ayrshire Trone stones of 24 Imperial lbs., in London or Smithfield stones of 8 Imperial lbs., in scores of 20 Im- perial LBS., AND IN CWTS. OF 112 IMPERIAL LBS. 

In the left-hand column are placed the prices per Imperial stone; opposite which, in the other columns, under their respec- tive headings, is found the relative or equivalent price of the other weights. For example, if the Imperial stone is worth 5s. Zd., the Dutch stone, at an equivalent rate, is worth (is. 6fcL, the Edinburgh stone 8s. 3d., the Glasgow stone 8s. 5\d., the Ayrshire stone 9s., the Smithfield stone 3s., the score 7s. (id., and the cwt. 42s. In calculating the Table the equivalent price is set down to the nearest farthing over or under the exact result. The price of one weight is converted into an equivalent price in another, in the following manner:— To convert the price per Imperial stone into an equivalent price per Trone stone, multiply the given price per Imperial stone by the number of Imperial pounds in the given Trone stone, divide the product by 14; the number of pounds in the Imperial stone, and the quotient is the equivalent price sought. To convert the price per Imperial lb. into an equivalent price per Trone lb., multiply the given price per Imperial lb. by the number of Imperial ounces in the given Trone lb., divide the product by 16, the number of ounces in the Imperial lb., and the quotient is the equivalent price sought. To convert the price per Trone stone into an equivalent price per Imperial stone; multiply the given price per Trone stone by 14, the number of pounds in the Imperial stone, divide the pro- duct by the number of Imperial pounds in the Trone stone, the quotient is the equivalent price sought. To convert the price per Trone lb. into an equivalent price per Imperial lb., multiply the given price per Trone lb. by 16, the ounces in the Imperial lb., divide the product by the number of Imperial ounces in the given Trone pound, and the quotient is the equivalent price sought. 
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Examples. 1. At the rate of 8s. 9d. per Imperial stone, required the equivalent price per Trone stone of 26 Imperial lbs.? Keduce the rate to pence = 105 26 630 210 14 ) 2730 ( 195 pence—16s. 3d. per stone. 14 133 126 70 70 

2. At the rate of 1 Is. 6d. per Ayrshire stone of 24 Imperial lbs., required the equivalent price per Imperial stone? Reduce the rate to pence =138 14 552 138 24 ) 1932 ( 80^ pence = 6s. 8^i. 192 
12 

48 
3. At the rate ot 5 Jd. per Im- perial pound, required the equi- valent price per Trone pound of 22 Imperial ounces? 22 

_3 16 ) 121 ( 71 pence and J of a 112 farthing. 
9 

4. At the rate of 10d. per Trone pound of 22£ Imperial ounces, required the price per Imperial pound? 
10 32 46 ) 320 ( 7 pence and nearly 315 half a farthing. 

5 

Note. See Table XIII. for the relative value of the Im- per'al pound, and the Dutch and Scotch Trone pounds; and Table XII. for the relative price per Imperial, Dutch, Scotch Trone, and Smithfield stones, the score, and the cwt., at certain rates per Imperial pound. 





TABLE XII. 
Shows the relative value or price op the Imperial, Dutch, the Edinburgh, Glasgow, and Ayrshire Trone, AfiD the Smithpield stones, the score, and the cwt., at rates prom \d. to 1». per Imperial pound. 

This, and the two following Tables, are so simple that they require little explanation; we may, however, take an example from each, beginning with Table XII. 
What is the value or prce of 1 stone of each of ihe denomina- tions in the Table, a score, and a cwt., at the rate of i\d. per Imperial pound? 
Opposite \\d. in the left-hand column, under their respective headings, stands 5*. Zd. per Imperial stone, 6a. 6Jd. per Dutch stone, 8«. Zd. per Edinburgh Trone stone, 8*. 5jd. per Glasgow Trone stone, 9a. per Ayrhirse Trone stone, 3a. per Smithheld stone, 7a. Zd. per score, and £2, 2a. per cwt. 

Example prom Table XIII 
What is the value of 1 lb. of each denomination in the Table, at the rate of 5\d. per Imperial lb.? 
Opposite 5\d., >n the left-hand column, under their respective headings, stands Zd. per lb. Dutch, 7|d. perlb. Edinburgh Trone, 7fd. per lb. Glasgow Trone, and 8Jd. per lb. Ayrshire Trone. 

Example prom Table XIV. 
Required the equivalent weight of 9 Imperial lbs. in each of the other denominations in the Table? 
Opposite 9 lbs., in the lelt-hand column, under their respective headings, stands 8 lbs. 3f oz. Dutch, 6 Ihs. 8f oz. Edinburgh Trone, 6 lbs. 6J oz. Glasgow Trone, and 6 lbs. Ayrshire Trone. 
Tables XII. and XIII. are calcu'ated to the nearest farthing; and Table XIV. to the nearest quarter of an ounce, either over 
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APPENDIX. 

TABLES OF WEIGHTS AND MEASURES. 
Imperial Trot Weight. .003961 of a cubic inch of water = 1 grain. (gr.) 24 grains = 1 pennyweight, (dwt.) 20 pennyweights =1 ounce. (oz.) 12 ounces = 1 pound (lb.)= 5700 grains. 

This weight is used for weighing gold, silver, jewels, <fcc.; also, for comparingdifferent weights with oneanother. A silvershilling weighs 3 dwts. 15T
3
T grs.; a gold sovereign 5 dwts. 3.2745 grs. 

Imperial Avoirdupois Weight. Troy grains. Cub in. of water. 16 drains (dr.) = 1 ounce = 437^ = 1.7329625 16 ounces (oz.) = 1 pound = 7000 = 27.7274 14 pounds (lb.) = 1 stone = 98000 = 388.1836 28 pounds (lb.) = 1 quarter = 776.3072 
4 quarters (qr.) == ^ weight = 3105.4688 

20 h wright} (cwt') ^ 1 ton = 63109.376 Butcher meat in London is sold by the Smithfield s'one of 8 lbs.; but in some counties of England the stone contains 12, in others 14, and in some even 16 lbs. Imperial. This weight is now used for all articles sold by weight, except the precious metals, &c., which are sold by Troy weight. As there are 5760 grs. in the pound Troy, and 7000 in the pound Avoirdupois, they are to one another in the proportion of 5760 to 7000, or as 144 to 175. 
Imperial Measures op Capacity. cubic inches. 1 gill = = 8.6648125 = 5 oz. ol 4 gills = 1 pint = 34.65925 = 1£ lb. 2 pints = 1 quart = 69.3185 = 2J lb. 4 quarts = 1 gallon = 277.274 = 10 lb. 2 gallons = 1 peck = 554.548 = 20 lb. 4 pecks = 1 busliel - 2218.192 = 80 lb. 8 bushels = 1 quarter = 17745 536 = 640 ib. 4 quarters make a chaldron, and 10 quarters a last. In Lon- don a chaldron of coals is 36 bushel-. This mea-ure is u ed both f r liquids and dry goods, the measures up to the gallon bring used ior liquids, and from the peck upwards for dry goods. 
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cubic in. Imp. galls. The Winchester bushel measured 2150.42, and contained 7.75557 The Irish bushel The Irish gallon for all liquids    The Old English Wine gallon  The Old English Beer and Ale gallon  The Scotch gallon for ad liquids  

Imperial I 
12 lines = 1 inch. 12 inches = 1 foot. 3 feet = 1 yard. 51 yards = 1 pole, perch, or rod = 16J feet. 40 poles = 1 furlong = 220 yards. 8 furlongs = 1 mile — 1760 „ 

A Scotch mile is 1976| yards, an Irish mile is 2240 yards, a palm is 3 inches, a hand is 4 inches, a span is 9 inches, a cubit is 18 inches, a fathom is 6 feet, an ell English is 45 inches; the length of a pendulum vibrating secondsat London 39.1393 inches. 

2178 
217-6 

833.6272 
s Lineal Measure. 

7.85504 
.78478 
.83311 

1.01705 
3.00651 

Imperial Square, or Superficial Measure. 
144 square inches = 1 square foot. 9 square feet = 1 square yard. 30J square yards = 1 square pole = 272J square feet. 40 square poles — 1 roo t =1210 square yards. 4 roods = 1 acre = 4840 „ 648 acres = 1 square mile. 

The Irish lineal pole or perch is 7 yards, and the square perch 49 square yards; the Imperial square pole being 30£ square yards, the acre is to the Irish as 30J to 49, or as 121 to 196. 100 square feet = a square of flooring; 36 square yards = a rood of building; 272J square feet are sometimes reckoned a rood of brick work. The chain u-ed for measuring land is 4 poles or 22 yards long, and consists of 100 links, each link being T
2
0

2
B of a yard, or 7.92 inches long: 10,000 square links make a square chain; 25,000 square links = a square rood; 100,000 square links = a square acre. 

Cubic, or Solid Measure. 1728 cubic inches = 1 cubic foot. 27 cubic feet = 1 cubic yard = 46656 cubic inches. A cubic inch of water weighs 252.458 grains, or .0360654 pound Imperial, and a cubic foot 62.321 pounds; a barrel bulk is 
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5 cubic feet; a ton of shipping is 42 cubic feet; a load of unhewed timber is 40 cubic feet; a load of squared timber is 50 cubic feet. 

Scotch Lineal Measure. ells. Imp. inches. 1 ell = 37.0593= 3.088316-ft. 6 ells = 1 fall = 222-3588= 18.5299 „ 4 falls =1 chain = 24= 889.4352= 74.1196 „ 10 chains =lfurlong= 240= 8894.352 = 247.0653-yds. 8 furlong?= 1 mile =1920 = 71154.816 =1976.5226- „ There having been some uncertainty regarding the length of the Scotch ell, a jury was appointed by the Sheritf-Depute of the County of Edinburgh, which met 4Ui February, 1826, and determined, in conformity to a report by competent persons, that the standard ell-bed, in the custody of the' city of Edinburgh, measured 37.0593 Imp. inches, and the Scotch chain of 24 ells 74.1196 Imp. feet, divided into 100 links, each 8.894352 inches. Some land measurers, reckoning the Scotch ell at 37 inches, used a chain of 74 Imp. feet, divided into 100 links, each 8.88 inches; others, reckoning the Scotch ell at 37T^, used a chain of 74/g feet, divided into 100 links, each 8.928 inches. 
Scotch Land Measure. Square yards. 1 square ell = 9.5377Imp.sq.ft. = 1.059744425956 36 square ells = 1 square fall = 38.150799334- 16 square falls = 1 square chain = 610.412789351- 

40
o^-hS } = 1 P<lU:ire r' od = 1526.03197337- 

4 m'lTcha'ins } = 1 acre = 5760 ells = 6104.12789351- 
The Scotch acre is to the Imperial as 1.261183449 is to 1, or as 1 to .79290606, or very nearly as 874 to 693. When the chain is reckoned to be 74 feet, the acre will contain 6084| yards, and is to the Imperial acre as 1.25711662 is to 1; when it is reckoned to be 74T

4
(f feet, the acre will contain 6150T

4
a yards, and is to the Imp. acre as 1.27(77438 is to 1. 

Scotch Dry Measure. For For Wheat. Barley & Oats, cub. in. cub. in. 4 lippies or forpats = 1 peck = 553.581... 807.576 4 pecks • = 1 tirlot = 2214.322 ... 3230.305 4 firiots = 1 boll = 8857.289 ... 12921.222 16 bolls = 1 chalder=141716.624 ... 206739.546 The Scotch pint jug was found to contain 26306.982 Imp. Troy grains, or 3.7581 pounds of water, and measured 104.2034 cubic inches. The wheat tirlot is nearly equal to the Imp. bushel, and contained 2l£ Scotch pints = 7.98605 Imp. gallons; 
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and is to the Imp. bushel as .998256 to 1. The barley firlot contained 31 Scotch pints = 11.65021 Imp. gallons, and is to the Imp. bushel as 1.4562794 to 1. 

Scotch Tboyes, or Dutch Weight. 
16 drops = 1 ounce = 1.09375 ounce Imp. 16 ounces = 1 pound = 17Jounces Imp. = 7656.25 Imp.grains. 16 pounds = 1 stone = 17^ pounds Imp. 4 lippies, or J stone of meal = 1 peck = 8f lbs. Imp. 16 pecks = 1 boll = 140 lbs. Imp.; 2 bolls = 1 sack or Idad = 280 ins. Imp.; and 16 bolls =■ 1 chalder. 

The Scotch Troyes, or Dutch pound, being the 16th part of the Lanark stone, was found, by an Edinburgh jury, to weigh 7608.9496875 Imp. grains, or 17.392 Imp. ounces, in place of 17J, as was usually estimated. But since the verdict here re- ferred to was passed, the Lanark stone has been suspected by the reporters, on whose authority the verdict rests, to be hardly entire, and that for every practical purpose it may be estimated at 17J ounces = 7656J Imp. Troy grains, as in the Table. The pound is then in proportion to the Imp. as 17J to 16, or 35 to 32; and the stone is to the Imp. stone as 174 to 14, or 35 to 28. This weight was used for weighing meal, iron, unwrought pewter and lead, hemp,, flax, most Dutch and Baltic goods, and other articles. 
Scotch Trone Weight. 16 drops = 1 ounce. 16 ounces = 1 pound. 16 pounds = 1 stone. 

This weight was used for weighing butter, cheese, butcher meat, hay, and other home productions, and varied in different counties in Scotland, from 20 to 28 Imp. ounces to the pound. By an Edinburgh jury, in 1826, the Trone pound was found to weigh 9622.67 Imp. grains, or as 1.374667 to 1 pound Imp.; or very nearly 22 Imp. ounces. In Glasgow, and the Lower Ward of Lanarkshire, the pound in general use contained 22^ Imp. ounces; in Berwickshire and Dumbartonshire, 23 ounces; Selkirkshire, 23J ounces; Ayr-hire, Montrose, Brechin, Ar- broath, <fcc., 24 ounces; part of Kirkcudbrightshire, 26 ounces; Kirriemuir, 27 ounces; and Aberdeen, 28 ounces. The pound of these weights are in proportion to the Imp. pound as the number of the Imp. ounces in their pound is to 16; and their stone contains the same number of Imp. pounds as their pounds contain of Imp. ounces. But as there are 16 pounds to the Trone stone, and only 14 pounds to the Imp. stone, the Trone stone is to the Imp. stone in the proportion of the number of Imp. pounds in their stone to 14, the number of pounds in the Imp. stone. As the Dutch and Trone weights are similarly 
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divided, they are to one another in the proportion of the number of Imp. ounces in their pounds, or Imp. pounds in their stone. 

4 lbs. 5] o: 8 lbs. 11 o 17 lbs. 6 o: A peck or stone of fl 'U i boll is 140 lbs., a sack 

and Flour Weight. . Imp. = 1 quarter loaf. =1 halt peck do. . „ =1 peck do. • is 14 lbs., a bushel of flour is 56 lbs., >r 5 bushels is 280 lbs., or 2J cwt. 

2 pints = 1 quart 4 quarts = 1 gallon 2 gallons = 1 peck 4 pecks = 1 bushel 4 bushels - 1 coom 2 cooms = 1 quarter 

Imp. gal. = 67.2 = 0.24236 = 268.8 = 0.96944 = 537.6 = 1.93889 = 2150.42 = 7.75558 = 8601.68 = 31.02231 = 17203.36 = 62.04462 5 quarters = 1 wey or load = 86016.80 = 310.22310 2 weys = 1 ton = 172033.60 = 620.44620 
Wool Weight. 

7 lbs. avoirdupois 14 lbs. or 2 cloves ir 2 stones r 6£ tods 28 lbs. c 182 lbs. c 364 lbs. o 4368 lbs. c 

1 clove 1 stone 1 tod 1 wey 1 sack 1 last. r 12 sacks 20 lbs. = 1 score, and 240 lbs. or 12 scores = 1 pack. Wool is frequently sold in Scotland by a stone of 24 lbs. Imp. 
Hat and Straw Weight. 

36 lbs. Imp. of straw = 1 truss. 56 lbs. of old hay = 1 do. 60 lbs. of new hay = 1 do. 36 trusses = 1 load. A load of straw weighs 11 cwt. 2 qrs. and 8 lbs., a load of old hay 18 cwt., and a load of new hay 19 cwt. and 32 lbs. Each truss of hay sold between 1st June and 31st August, being new hay of that year’s growth, must wmgh 60 lbs., and every truss sold between 31st August and 1st June, in the succeeding year, must weigh 56 lbs. 
The (Juartekly In England. Lady-day, 25th March. Midsummer, 24th June. Michaelmas, 29th September. Christmas, 25th December. 

Terms. In Scotland. I Candlemas, 2d February. I Whitsunday, 15th May. Lammas, 1st August. I Martinmas, 11th November. 
THE END. 
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